To graph any parabola….
The equation of a parabola may be in the form: 
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“Vertex Form”

If the equation is in the form  
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, the vertex is located at 
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.  The x value of the vertex, 
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 is equal to h.  The y value of the vertex, 
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, is equal to k.

General Form
If the equation is in the form 
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, there are two different methods for finding the vertex.


1) Put the equation into the “vertex form”, 
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, by completing the

 square.

Or

2)  Find the x value of the vertex, 
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 (also called h), by using the formula 
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.  Then find the y value of the vertex, 
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 (also called k), by plugging the 
x value of the vertex into the original equation and solving for 
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To graph a parabola
1) Determine whether the parabola opens up or down. (look at the value of a, if a is positive, the parabola opens up, if a is negative, the parabola opens down)

2) Find the vertex

3) Make a very quick sketch from these two pieces of information.  Does the parabola

     have any x intercepts?

4) Find the y intercept.  Find the x intercepts (if there are any)

5) Plot the vertex, intercepts and one additional point found from symmetry and the y 

     intercept.

6) Determine valuable information from the graph:


1) Does the parabola have a maximum or a minimum value?


2) What is the maximum (or minimum) value?


3) Where does the maximum (or minimum) value occur?
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